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Chapter 3:

» Evaluate each ex 2xpression, and write your answer in standard form:
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Find the discriminant of the quadratic equation and describe the number and tvp Iuhons:
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Solve the nonlinear system using either substitution or elimination: i
x*—6x+13=y ‘ e 49) = -0
o) {*° 2oz o
y==2xedy* Nl y=T=x 3u :—]

U'C-:J f) —
“1-%)*
y‘- %’1 s - %\"-\C\ (0D

v wf\»\\-\yﬂt =H4 y=1-

L -
9 ER :
’ \( XS‘ 3 =0 / o ! ] (\’] \D> /"’
Solve the quadratic inequality either algebraically or graphically. Wnte yo ranswer in interval notation.
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Write each polynomial in standard form. Then, state the degree and leading coefficient (LC) and describe the end

behavior using proper notation.

3) g(x) = —3x* + 1 — 5x2 4) f(x) =6 —4x — 2x3
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Find all the real solutions and state the multiplicity of each solution:
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Write a polynomial function given the following zeros:
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Use the rational root theorem to make a list of all the possible rational solutions: el et
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Determine whether the functlon represents exponential growth or exponential decay.
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6) You purchased a valuable collectable for $525. The value of the coIIectabln value by 5% each year.
a) Write an exponential model in the form y = a(b)* that represents the value y (in dollars) x years after
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7) You deposit $1 500 in an account that pays 7% annual interest. Find the balance after 2 years when the interest is

compounded daily. Find the balance after 2 years when the interest is compounded conhnuously
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Use log;4 =~ 0.712 and log,12 = 1,277 and properties of logarithms to evaluate each logarithm.
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Solve the following elquatlon: Round Your answers to three decimals places if necessary.
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solve each equation or inequality:
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Complete the following application problems. — @
8) The time it takes to travel from North Vancouver to Hope varies inversely3s the speed at which one travels-if Tt takes

1.5 hours to travel this distance at an average speed of 120 km/h, find the amount of time it would take to drive back if

you were only able to travel at 60 km/h due to an engine problem. r = 50
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9) When looking at two buildings at the same time, the length of the buildings” shadows varies directly as their hEI%ht. |
a 5-story building has a 20 m long shadow, how many stories high would a building that has a 32 m long shadow be?
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Find all the missing sides of each special right triangle:
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6) You fly a kite at an angle of 70°. The length of the string is 400 feet, and you hold the reel 4 feet above the ground.
How hi N
ow high above the ground is the kite? ok U\\\ DA

e RE— ——
4

1 i { )(: '{")‘\(’/\|C\ _m_\‘,\)
‘JV ¥4 : \y IU R S - ol k= ;
' ‘ I Yoo e
Q, o VA

<0 i Ha w10 =X
5 Y= 716, 88
J\ L\

1.9



Draw each angle in standard position. Then, find and label the reference angle for each.
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9) Find one positive angle and one negative angle that are coterminal to 25°
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Convert the degree measure to radians, or the radian measure to degrees:
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10) A dog is leashed to the corner of a rectangular house. The leash is 15 feet long and the dog can run 270° from the
point that the leash is connected to the corner of the house.
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b) You want to put fencing along the perimeter of the dog’s running area. You do not put fencing along the sides of the
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Use your unit circle to find the exact values of the following (no decimals, use your unit circle!)
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1 2

[ B I ¥ — AN

N ) 6o/ ' R ¢

L 4 _\ Q0 -
"/, S_— foa: 2 \\ P 0N \

CO'.'.;”V'/.U'J e | ‘E/z \ “‘__E‘:-'. ?)
2 g -w T
e — J‘ l‘ Y \]—:1 | ‘;_-'t l

*You will need to look over the probability and two-way table notes from Chapter 8 as there will be questions about
them on the final!



